

IV. $\frac{1}{\mu}$

1. $\frac{1}{\mu}$

B. $\frac{1}{\mu}$, $\frac{1}{\mu}$, $\frac{1}{\mu}$, $\frac{1}{\mu}$, $\frac{1}{\mu}$, $\frac{1}{\mu}$

$$\cos \alpha - \sin \alpha = 1 \rightarrow \cos \alpha = 1 + \sin \alpha \rightarrow \cos \alpha = \frac{1 + \sin \alpha}{\cos \alpha} \rightarrow \cos \alpha = 1 + \sin \alpha \rightarrow \cos \alpha = \frac{1 + \sin \alpha}{\cos \alpha}$$

$$\alpha = \frac{\pi}{4}, \omega = \frac{\pi}{4} \rightarrow \frac{1}{\mu}$$

$$\cos \alpha + \sin \alpha = 1 \rightarrow \cos \alpha = 1 - \sin \alpha \rightarrow \cos \alpha = \frac{1 - \sin \alpha}{\cos \alpha} \rightarrow \cos \alpha = 1 - \sin \alpha \rightarrow \cos \alpha = \frac{1 - \sin \alpha}{\cos \alpha}$$

$$(\cos \alpha + \sin \alpha)(\cos \alpha - \sin \alpha) = 1 \rightarrow \cos^2 \alpha - \sin^2 \alpha = 1 \rightarrow \cos^2 \alpha - \sin^2 \alpha = 1$$

$$(\cos \alpha + 1)(\cos \alpha - 1) = 0 \rightarrow \cos \alpha = 1 \rightarrow \alpha = 0, \pi$$

$$\cos \alpha + \sin \alpha = 1 \rightarrow \cos \alpha = 1 - \sin \alpha \rightarrow \cos \alpha = \frac{1 - \sin \alpha}{\cos \alpha} \rightarrow \cos \alpha = 1 - \sin \alpha \rightarrow \cos \alpha = \frac{1 - \sin \alpha}{\cos \alpha}$$

$$(\cos \alpha + 1)(\cos \alpha - 1) = 0 \rightarrow \cos \alpha = 1, \cos \alpha = -1 \rightarrow \alpha = 0, \pi$$

$$\sin \alpha = \frac{1}{\mu} \rightarrow \alpha = \frac{\pi}{4}, \omega = \frac{\pi}{4} \rightarrow \frac{1}{\mu}, \frac{1}{\mu}, \frac{1}{\mu}, \frac{1}{\mu}$$

$$\sin(\frac{\pi}{4} + \alpha) = \cos(\frac{\pi}{4} + \alpha) \rightarrow \sin \alpha = \cos \alpha \rightarrow \sin \alpha = \cos \alpha \rightarrow \sin \alpha = \cos \alpha$$

$$1 = \sin \alpha \rightarrow \sin \alpha = \frac{1}{\mu} \rightarrow \alpha = \frac{\pi}{4}, \omega = \frac{\pi}{4} \rightarrow \frac{1}{\mu}, \frac{1}{\mu}, \frac{1}{\mu}, \frac{1}{\mu}$$

$$\sin \alpha = \frac{1}{\mu} \rightarrow \alpha = \frac{\pi}{4}, \omega = \frac{\pi}{4} \rightarrow \frac{1}{\mu}, \frac{1}{\mu}, \frac{1}{\mu}, \frac{1}{\mu}$$

$$\cos(\alpha + \frac{\pi}{4}) = \frac{1}{\mu} \rightarrow \cos(\alpha + \frac{\pi}{4}) = \frac{1}{\mu} \rightarrow \sin \alpha = \frac{1}{\mu} \rightarrow \sin \alpha = \frac{1}{\mu}$$

$$(\cos(\alpha + \frac{\pi}{4}))^2 = \frac{1}{\mu^2} \rightarrow \cos^2(\alpha + \frac{\pi}{4}) = \frac{1}{\mu^2} \rightarrow \sin^2 \alpha = \frac{1}{\mu^2} \rightarrow \sin \alpha = \frac{1}{\mu}$$

$$m = \frac{\sqrt{9}}{\sqrt{9}} = 9$$

$$\sin(\alpha + \frac{\pi}{4}) \cos(\alpha - \frac{\pi}{4}) = 1 \rightarrow \cos(\frac{\pi}{4} - \alpha) \cos(\alpha - \frac{\pi}{4}) \rightarrow \sin(\alpha + \frac{\pi}{4}) = 1$$

-4

$$\sin(\alpha + \frac{\pi}{4}) = \pm 1 \rightarrow \alpha + \frac{\pi}{4} = k\pi + \frac{\pi}{4} \rightarrow \alpha = k\pi$$

1/2

$$\sin \alpha + \sqrt{2} \cos \alpha = \sqrt{2} \xrightarrow{\times \frac{1}{\sqrt{2}}} \sin(\alpha + \frac{\pi}{4}) = \frac{\sqrt{2}}{\sqrt{2}} \rightarrow \alpha + \frac{\pi}{4} = k\pi + \frac{\pi}{4} \rightarrow \alpha = k\pi$$

-1

$$\alpha = \frac{2\pi}{12}, \frac{4\pi}{12}, \frac{8\pi}{12} \rightarrow \frac{2\pi}{12}, \frac{4\pi}{12}, \frac{8\pi}{12}$$

$$\alpha + \frac{\pi}{4} = k\pi + \frac{\pi}{4} \rightarrow \alpha = k\pi$$

$$\sin \alpha \sin(\frac{\pi}{4} - \alpha) = 1 \rightarrow \sin \alpha (\cos \alpha) = 1 \rightarrow \sin 2\alpha = 1$$

-1

$$\sin 2\alpha = \frac{1}{2} \rightarrow 2\alpha = k\pi + \frac{\pi}{6} \rightarrow \alpha = k\pi + \frac{\pi}{12}, 2\alpha = k\pi + \frac{5\pi}{6} \rightarrow \alpha = k\pi + \frac{5\pi}{12}$$

$$\rightarrow \frac{\pi}{12} + \frac{5\pi}{12} + \frac{9\pi}{12} + \frac{13\pi}{12} = \frac{24\pi}{12}$$

$$\cos^3 \alpha = k \cos \alpha \quad (\cos^3 \alpha) (\cos^3 \alpha) (\cos^3 \alpha) = \frac{1}{8}$$

-9

$$\cos \alpha \cdot \cos \alpha \cdot \cos \alpha = \pm \frac{1}{8} \xrightarrow{\text{reind}} \cos \alpha = \pm \frac{1}{8} \rightarrow \alpha$$

$$\sin \alpha = \sin(-\alpha) \rightarrow \alpha = k\pi + \frac{\pi}{4} = \frac{\pi}{4}$$

$$\alpha = k\pi + \frac{\pi}{4} = \frac{\pi}{4}$$

mod = 2

$$\sin \alpha = \sin(-\alpha) \rightarrow \alpha = k\pi + \frac{\pi}{4} = \frac{\pi}{4}$$

$$\alpha = k\pi + \frac{\pi}{4} = \frac{\pi}{4}$$

$$\ln \cos \alpha \ln \alpha = 1 \rightarrow \ln \cos \alpha = \frac{1}{\ln \alpha} \rightarrow \ln \cos \alpha = \ln(\frac{1}{\alpha}) \rightarrow \cos \alpha = \frac{1}{\alpha}$$

-1.

$$\cos \alpha = \frac{1}{\alpha} \rightarrow \alpha = k\pi + \frac{\pi}{4} \rightarrow \frac{\pi}{4} + \frac{\pi}{4} + \frac{\pi}{4} + \frac{\pi}{4} = \pi$$